1 IR

T &%) RitFDOHNTHONT

Jml

F CGER) KEFEOARICEI VMY E-1ERIZ. fEERISMD
DN Z Z TG BN D DT80, é&%ﬂ@ﬂ% \ZH7- - T,
By mf%%ﬁot@AXi@A BiT5 1 RFAAICES H O
L. AEEEIZEDLLT [FE=F~DRMTE] ZiTDR\W\Z

N O\ % H

o

Tl R



EXEIPERE (AN01)

TE4 ([R6FEL SmIUFATERM > - EDLFEM  ERERE R FEXS B MERR - fETE
THERXS B HEHMERT
TEXSy - TFE - &R - 5] Hiks HAAL iy Bl &FA B - BEHER T
T8 HEHMERT
= 1 2,012,970
1 B IE L
= 1 290, 280
B EER L
= 1 290, 280
B mH w (R - AT0) TR ATy, R D72 Hoo15
km 16. 4 17, 700 290, 280
MERMERF T
= 1 261, 690
M- E BT
= 1 261, 690
FAET E H 25
H 3 87, 230 261, 690
FRET
= 1 1, 185, 000
T R T
= 1 1, 185, 000
K ERE () (ESAER T B 3%
m2 8, 500 130 1, 105, 000
FRELAL Sy B 4%
t 4 20, 000 80, 000
e T
= 1 276, 000
BB
= 1 276, 000
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TEXSy - TFE - &R - 5] Hiks HAAL iy Bl &FA B - BEHER T
AR B 55
UNE! 20 13, 800 276, 000
[ERE I ¢
= 1 2,012,970
IR
= 1 662, 000
R (i)
= 1 662, 000
W=
= 1 2,674,970
Bl E ey
= 1 1, 815, 000
T 25U
= 1 4, 489, 970
— s PR
= 1 1, 049, 030
T Mk
= 1 5, 539, 000
T BiAR K OVt D7 T 2 B4R
= 1 553, 900
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= 1 6, 092, 900
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1 /ﬁ( @’fﬂfﬁ%é At H AF A 2024. 05
SRR 1.000-00000 0.0 0
TR B T (B F R A7) VEZETHE: N ), BB & D7
Hifr km BT ] HAA 17,700
LW - B S ==y g HAA &HE SE
R (EH - A1) A
km 1 17, 700 17, 700
N 17, 700
Hifilh 17, 700 M/ kn
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BTV E 3 HE R
H 3 36, 040 108, 120
B 077 Ny ) iE 4 18. 5kmPL T, B 4T
m3 2 2, 580 5, 160
WSy E (1)
t 1 17, 000 17, 000
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1 /ﬁ( @’fﬂfﬁ%é At H AF A 2024. 05
SRR 1.000-00000 0.0 0
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LW - B S ==y B HAA & SE
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it 10
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o | BRELALSS
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